
SAP ABAP table GLPCT {EC-PCA: Totals Table}

GLPCT

RCLNT [CLNT (3)]

RLDNR [CHAR (2)]

RRCTY [CHAR (1)]

RVERS [CHAR (3)]

RYEAR [NUMC (4)]

ROBJNR [CHAR (18)]

COBJNR [CHAR (18)]

SOBJNR [CHAR (18)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

DRCRK [CHAR (1)]

RPMAX [NUMC (3)]

RBUKRS [CHAR (4)]

RPRCTR [CHAR (10)]

RFAREA [CHAR (16)]

KOKRS [CHAR (4)]

RASSC [CHAR (6)]

EPRCTR [CHAR (10)]

ACTIV [CHAR (4)]

LOGSYS [CHAR (10)]

SBUKRS [CHAR (4)]

SPRCTR [CHAR (10)]

SFAREA [CHAR (16)]

VERSA [CHAR (3)]

CSPRED [CHAR (4)]

QSPRED [CHAR (4)]

STAGR [CHAR (6)]

WERKS [CHAR (4)]

REP_MATNR [CHAR (18)]

RMVCT [CHAR (3)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 GLPCT-EPRCTR = CEPC-PRCTR 

0..N

{0,1}

 GLPCT-RPRCTR = CEPC-PRCTR 0..N

{0,1}

 GLPCT-SPRCTR = CEPC-PRCTR 
0..N

{0,1}

T000

MANDT [CLNT (3)] GLPCT-RCLNT = T000-MANDT 0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 GLPCT-RBUKRS = T001-BUKRS 
0..N

1

 GLPCT-SBUKRS = T001-BUKRS 0..N

{0,1}

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 GLPCT-WERKS = T001W-WERKS 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 GLPCT-RUNIT = T006-MSEHI 
0..N

{0,1}

T022

ACTIVITY [CHAR (4)]
 GLPCT-ACTIV = T022-ACTIVITY 

0..N

1

T821S

MANDT [CLNT (3)]

SPRED [CHAR (4)]

 GLPCT-CSPRED = T821S-SPRED 
0..N

{0,1}  GLPCT-QSPRED = T821S-SPRED 0..N

{0,1}
T856

MANDT [CLNT (3)]

TRTYP [CHAR (3)]

 GLPCT-RMVCT = T856-TRTYP 
0..N{0,1}

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 GLPCT-RASSC = T880-RCOMP 

0..N

{0,1}

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 GLPCT-RLDNR = T881-RLDNR 

0..N

1

T8A60

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

REP_MATNR [CHAR (18)]

 GLPCT-REP_MATNR = T8A60-REP_MATNR 

0..N

0..N

TBDLS

LOGSYS [CHAR (10)]

 GLPCT-LOGSYS = TBDLS-LOGSYS 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 GLPCT-RTCUR = TCURC-WAERS 

0..N

{0,1}

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 GLPCT-RFAREA = TFKB-FKBER 

0..N

{0,1}

 GLPCT-SFAREA = TFKB-FKBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 GLPCT-KOKRS = TKA01-KOKRS 

0..N

1

TKA03

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

STAGR [CHAR (6)]

 GLPCT-STAGR = TKA03-STAGR 

0..N

{0,1}

TKKAP

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

VERSA [CHAR (3)]

 GLPCT-VERSA = TKKAP-VERSA 

0..N

{0,1}

TKVS

MANDT [CLNT (3)]

VERSI [CHAR (3)]

 GLPCT-RVERS = TKVS-VERSI 

0..N

1


